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() MPAFEERE—ENERAERRAR  RAZTFAUT
4 EE & 100,000 - SHEE 80,000 - EE{HS$20 » HESL/NER 50,000 - EEEH1EI$80,000 -

IE 2 A T.$240,000 - BAEHSEEEER FI$40,000 - [5 EHEEEE FH$200,000 - BEEHE |

F1$48,000 - [EEHEE F$20,000 » (SRS EHEE » WA TR S8R &
% o BN YIVR R <SR B IERE 7
(A)$1,064,000 (B)$1,044,000 (C)$1,024,000 (D)$1,004,000

() FAEESMEERMBIEX @ BEELERENE—K > T2FRIE4E
R 0 HIEZSEER M BETE R — RENHYER AR » AT REAESE — KRB UK F b as T -
— HZEIRGERR - S E G R LISKE @ FHREE RO T ¢
BTSRRI
B—RK HBIX HB=K HUX
R LS D= 5N $ 50,000 $120,000  $200,000 $400,000

FEHSERRATIEER 0.2 0.4 0.8 1.0
AR A R RREE SR TR R S SHSRR < MR 7 |
(A)$116,800 (B)$152,000 (C)$308,000 (D)$400,000 |

() HAFRTFIEREEE  HEFRETER 10 B 205 FHE 1575 24
BIRFRTAE 10 /N » —ELIE S K BEERETE 30 @ ssEnsr - =5 |

e | AT RE TS —EEAS - RIEBRETE ORI (average waiting tine )
(A) 03¢ (B)15408 (C)45534 (D) 60 56

() BB TS AR TN RIS  ZS SRR s e 4

B/ NIFSERAEE - BRVINFEEETRERREICR W& FHg B AR |
(incremental unit-time)S2 B, o fiRa/ N 5 B/ NRFAEFESE—FRUNVEST - &t |

(A)50% (B)60% (C)70% - (D)80% |
|

5. () BT RRAERRZTEER © & BRI 60% % 40% » FEERINY

BENHAG HIFERY 60% > ZEMAL 85% - BT A RERIMEEE HAR |
$195,000 > AT{SHEER 30% - AR T ELMELIFH$6,300 - BT REMEHES L
A 7

(A)$464,000  (B)$654,000  (C) $659,000 (D) $680,000 {
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Please matching graphs with descriptions of cost and revenue behavior by using the following

format.

ltem a b c d €

Answer

['he horizontal axis represents the units produced over the year and the vertical axis represents total
sost or revenues. Indicate by number which graph best fits the situation or item described (a-¢).
Some graphs may be used more than once; some may not apply to any of the situation.
1. Supervisors’ salaries for one shift and two shifts !
h. A cost-column-profit graph

Mixed costs-for example, car rental fixed charge plus a rate per mile driven
. Data supporting the use of a variable-cost rate, such as manufacturing labor cost of $14 per unit

produced

e. Incentive bonus plan that pays managers $0.10 for every unit produced above some level of
; production
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' 1. Should Award Plus accept this special order? Show your calculations.

' 2. Suppose plant capacity were only 9,000 medals instead of 10,000 medals each month. The

FHAH3A2B(EMA) B28  AREME n kE 5 g
= 15%

The Award Plus Company manufactures medals for winners of athletic events and other contests.
Its manufacturing plant has the capacity to produce 10,000 medals each month. Current production
and sales are 7,500 medals per month. The company normally charges $150 per medal. Cost
information for the current activity level is as follows:

Variable costs that vary with number of units produced

Direct materials $ 262,500
Direct manufacturing labor 300,000
Variable costs (for setups, materials handling, quality control, and so on)
that vary with number of batches, 150 batches * $500 per batch 75,000
Fixed manufacturing costs 275,000
Fixed marketing costs ' 175,000
Total costs © $1,087,500

————— e

Award Plus has just received a special one-time-only order for 2,500 medals at $100 per medal. |

|

Accepting the special order would not affect the company’s regular business. Award Plus mal

medals for its existing customers in batch sizes of 50 medals (150 batches * 50 medals per batch =
7,500 medals). The special order requires Award Plus to make the medals in 25 baiches of 100

each.

special order must either be taken in full or be rejected completely. Should Award Plus acce pt

the special order? Show your calculations.

3. Asinrequirement 1, assume that monthly capacity is 10,000 medals. Award Plus is concerned |
that if it accepts the special order, its existing customers will immediately demand a price
discount of $10 in the month in which the special order is being filled. They would argue that
Award Plus’s capacity costs are now being spread over more units and that existing customers
should get the benefit of these lower costs. Should Award Plus accept the special order under

these conditions? Show your calculations

I o o 2 A 36
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Nolton Products uses standard costing. It allocates manufacturing overhead (both variable and

!
§
i

lixed) to products on the basis of standard direct manufacturing labor-hours (DLH). Nolton |

:ievelops its manufacturing overhead rate from the current annual budget. The manufacturing |
overhead budget for 2012 is based on budgeted output of 720,000 units, requiring 3,600,000 DLH.

The company is able to schedule production uniformly throughout the year.

A total of 66,000 output units requiring 315,000 DLH was produced during May 2012.
Manufacturing overhead (MOH) costs incurred for May amounted to $375,000. The actual costs,

compared with the annual budget' and 1/ 12 of the annual budget, are as follows:

Annual Manuf'tcturmg Overhead Budget 2012

Monthly Actual
Per Per DLH MOH MOH Costs
Total Output  Input Budget for May
Amount Unit Unit May 2012 2012
Vafiable MOH a
iﬁ‘jﬁfm(:t e $900,000 $125  $0.25 $ 75,000 $ 75,000
Supplies 1,224,000 1.70 0.34 102,000 RN
Vied MO
Supervision 648,000 0.90 0.18 54,000 51,000
Wtilities 540,000 0.75 0.15 45,000 54,000
L')epreciatibn 1,008,000 1.40 0.28 84,000 84( !O‘%
Tolal| $4,320,000  $6.00  $1.20 $360,000 $375,000

Req xi;i'ed

'T.‘\'utulé.li,c the following amounts for Nolton Products for May 2012:
i 1'%_)tui manufacturing overhead costs ailocated

’\’%:u‘inblc manufacturing overhead spending variance

{

3 |Fixed manufacturing overhead spending variance
|
L 4 V}n'iahle manufacturing overhead efficiency variance

5 |Production-volume variance

Be spire to identify each variance as favorable (F) or unfavorable (U).
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product B, and 16,000 pounds of product C.

Product A is processed further in the salting department to yield 12,000 pounds of salted
peanuts at a cost of $27,000 and sold for $12 per pound.

@ Product B (raw peanuts) is sold without further processing at $3 per pound.

¢ Product C is considered a byproduct and is processed further in the paste department to yieid

16,000 pounds of peanut butter at a cost of $12,000 and sold for $6 per pound.

‘The company wants to make a gross margin of 10% of revenues on product C and needs to all
20% of revenues for marketing costs on product C. An overview of operations follows:

A

= Joiut Costs 3] Separable COsts sl
$180,000 ; ]

12,000 pounds

i e e g emmmg ey G e

16,000 pounds &

splitoff
“Point

| Reaquired

Compute unit costs per pound for products A, B, and C, treating C as a byproduct. Use the TR
inethod for allocating joint costs. Deéduct the NRV of the byproduct produced from the joint cost o
products A and B.

Royston, Inc., is a large food processing company. It processes 150,000 pounds of peanuts in the |
peanuts department at a cost of $180,000 to yield 12,000 pounds of product A, 65,000 pounds of |




